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The magnitude response of a capacitively coupled amplifier is shown in Fig..

Explain the reason for the magnitude decreasing at low and high frequencies.
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Find the midband gain in dB and bandwidth in Hz for the amplifier described
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by A{S)= . What type of amplifier is this?
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For the transfer function:
AS)= §x108(S +20)
(S +30)(S +400)(S +10000)(S +100000)

(Liplease write down the poles and zeros.

(?)please state which pole is the dominant low frequency pole and which

frequency is the dominant high frequency pole.
{3)please sketch the Bode magnitude plot. [0S AR R HH B A $AT)
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(Dzeros © z, =0 (rad/sec) » z, =-20 (rad/sec) * z; =z, =0 (rad/sec)
poles ! p, =-30 (rad/sec} » p, =~400 (rad/sec) * p, =-10" (rad/sec) -
P =~10° (rad/sec)
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The high-frequency response of an amplifier is characterized by 2 zeros at

S = and 2 poles frequency at ®,, and w,, . For ,, = ko, , find the value

of k that results in the exact value of w, being 0.9, .
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The small-signal equivalent circuit of a two-stage amplifier is shown in the
Fig, where R, =1MQ, Ce=1pF, g, =100pA/V?, g =125uA/V?,
R =200KQ, R, =250KQ, C;=05pF and C;,=25pF.

(DDetermine the midband gain (in dB).

(MIf a compensation capacitor (2 pF) is added between nodes 1 and 2,

estimate the dominant pole frequency (in Hz).
(HRoughly sketch the magnitude response of the amplifier gain (v,/v;,)

after compensation, and indicate the -3 dB frequencies (in Hz) in your

plot.
{4)Find the zero results from the compensation capacitor. s the zero located

in the right-half or the left-half plane?
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